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Lingl1658B Midterm Exam Winter 2019

Answer the questions in the spaces provided on the question sheets.

Name: _Shavon Lw

134

Total points: /144

Every time you are asked to draw a tree, we expect you to draw a surface tree
that includes everything you learned in this class. In particular don’t forget
to include:

e [+q],[+wh] features when relevant;

e indeces in controlled structures;

e arrows and traces showing movement.
Nota Bene Sometimes you will be allowed to use triangles for phrases con-
taining a single word. Sometimes you won’t. Make sure to read the directions
carefully.

(18 points)
Consider the following sentences and answer the questions below. Make sure state clearly
why each principle is satisfied or violated. You should discuss all the indexed DPs.

0,
[Fred,’s best friend]; wants him; to'respect his; sister more.

(1)
Swpjeet ool

(a) (4 points) Is principle B satisfied? o Yes O No
/

Ur

Justify your answer [Max 3 lines. ]

[hwm] s nod bowrd o we 8D, which [C 4he  whole  ®nfente | Gine Ahe only preceding
v 7

PP teindeXed with W, [rved] , Aot nol coommppd - This) it ol bownd W e BD, [his

gichtr] | whith  haf gwbjett [his]) . So ‘r"nv\crg!e g g cabitfied.
(b) (4 points) Is principle C satisfied? “ Yes O No
Justify your answer [Max 3 lines. ]
p-exprecsions [Fred) pnd  [prea's bett f0ted)  Me ht bownd | since here  are
po preteding)  DPS  oyhdtitd itk Ao vk coymand  Ahem. /
‘ 1
(c) (1 point) Overall, is the sentence predicted to be grammatical? o Yes O No

-

P

L~
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(2) John; expects himself; to be successful

(a) (4 points) Is principle A satisfied? @ Yes~ O No
Justify your answer [Max 3 lines. ] '
(hiwged€ ) s bownd AT B, whith 18 Ahe whele  fenbtne by Tdohnd . The 8D
i AR whole senfong  becawge i e smalkeh XY with poswppechoqueh thad Thimiel)
s Commanded by anothiy DY, whith s Cehe) . Co ,,g)%umjo]} A gmj;{\g% o

/

(b) (4 points) Is principle C satisfied? Y s ONo
Justify your answer [Max 3 lines. |

Roxpveson  Tlobn) g wot bowrd, ginee  Ahoe @it ng AP C-ommard g . So
prthupit (A fadefaed. v

(c) (1 point) Overall, is the sentence predicted to be grammatical? [ Yes J No

4 Question 2: Different structural positions (12 points)
Consider the following English sentenco;e)‘g,:0
"%

[pp The children | agreed to &danpe. Contvol wevk

We persuaded [pp the children ]{to dance] obyect i}
We expected{[pp the children | to danceh.} iy o obyect
We made [pp the children | dance

(3)

R i

You will have to specify what is the position of the DP the children in the surface tree
of each sentence.

(a) (3 points) What is the structural position of [pp the children | in (3a)?

E]/ specifier of TP; [J complement of V;
O specifier of VP; O specifier of CP.

(b) (3 points) What is the structural position of [pp the children | in (3b)?

0 specifier of TP; | complement of V; Y
O specifier of VP; O specifier of CP. Vo ¢ P
Ahe thilg it

(c) (3 points) What is the structural position of [pp the children | in (3c)?

i specifier of TP; ' O complement of V; N
O specifier of VP; " UJ specifier of CP. A T

e duildien
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(d) (3 points) What is the structural position of [pp the children | in (3d)?

\ 1
U specifier of TP; E(complement of V; y N e
2L A a
T U specifier of VP; O specifier of CP. mt\:? s dantt
he tmiditn
/ Question 3: Raising and Control adjectives (25 points)

For each of the following sentences, identify the type of underlined adjective. Give one
argument justifying your choice and write the lexical entry.

Make sure to pay attention to the interpretation of the sentence and to account for
that! A particular adjective could participate in both raising and control structures, but

with different interpretations. Here you are only asked to account for the interpretation
of the examples provided.

(4) a. Dan is eager to eat the last croissant.
b. Dan is certain to have eaten the last croissant.

(a) (3 points) eager isa [ raising Efci?pt’i:ol adjective  because
Dan 1§ Avt adwal odtveel  atqumtnt of Ceaqer]): Wit \S ke one who (¢ eagty

we know [eager)  \ pwobably nod @UEThq pand f w(}cu,d/'/(onhu\ betAng
& Al N 'l * ) &/
t de@t  het allew  weathey M - + 8 eager 10 be yaihing

(b) (2 points) The lexical entry of eager is:

eager A tree DPexp ~ V¥ Tho] Yheme FL/

7

~
(c) (3 points) certain is a EIJI;ai/sﬁlg O control  adjective  because

Dan 1T not  4n0 Agwmel  oxdtrhal  avguwiiiad celected Yy [covimiw) = Dan VS it
N
e oht who 0

{ (edmin. we Phow  (Cerfam] 8 v ben(d ¥ alows for
wendhey 't AF 15 cadmih 0 be  raihing.

/
/
7

\
\

(d) (2 points) The lexical entry of certain is:

@iotn A free TPT4ed yeme [ (R TYR&Y) yyone

g @rtain Ahad
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(e) (15 points) Draw a tree structure for (4b). You are allowed to use triangles for ,
single words. A

Dan 8 ertalh Yo have  eatth  Abe \ast coissant.

TP
N

by 7!

L
Dan AN\
T \Ad
VAN VS
Y% Al A
i [pres)

.‘
N
A Tr
cevlaip 2N
\ + . 1!

N
~. Tl€r) v
10 VAN
v vY
have AN
.‘, A
\,_,/ /N
v by
eaitn AN
p NE
1he aN
AP N
A a
&g+ croicand
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V' Question 4: Object Control vs. ECM verbs (24 points)
For each of the following sentences, identify the type of underlined verb. Is it object

control or ECM? Provide one argument justifying your choice and finally draw the tree
for (5b).

(5) a. Dan ordered Josh to read a book of poems.
b. Dan reported John to have stolen the package.

c. Dan urged Josh to read a book of poems.
objet  cunive| o
(a) (3 points) order is a M raigmvezterobdect ([ ECM  verb  because

we X pan ordtred i Ay Ve raikirg -

i Ae( net alew  fw weathey

L

obhye copdro)
(b) (3 points) report is a DrMﬁsﬁ E/E%M/ verb  because

Woallowy fiv waedhey 't pan lmfied W {0 be yaihing.
, J

~

,vyed Lo
(c) (3 points) urge is a [ saictsgmessigest [JECM  verb  because

W deer ny allew fw weafhtr 1t “9an wiged i o Ve YRining -

L

Page 5 of 10



Lingl165B Midterm Exam Winter 2019

(d) (15 points) Draw a tree structure for (5b). You are allowed to use triangles for
single words.

Do \eprted  Nohn Ao hate Sholen  qpe pacEafe.

T TP
y 7N N
\ Thpst)  pe T
W‘?L\\{ _ ?d A
e J 0‘\ h /\\ J
/) THop) V { B
— to / /

V ve VS
have AL

N
rhe a
\oMH@C
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/ Question 5: wanguages (15 points)
Draw a tree s ure for the following Korean sentence.
(6)  kutul-un mokcek-ul chukwuhayya han tako tonguyha-yess-ta.
they-TOP goal-Acc pursue must that agree-PAST-DECL

‘They agreed that they should pursue the goal.’

1. You can ignore the case markers and use triangles for the DPs present in the
sentence.

2. One of the two third-person subject pronouns is omitted. You will have to decide
which one.

3. Assume that lexical verbs can raise to T and ignore the declarative marker -ta.

peo?
e
VRN
DY, T
N
badal-un N
/ Vp
[N 10T
{k/ k ‘ oh(ov\\‘ \‘\ n - Y EKS - “'0\
/
Y o )\
//’\\ N
¢
TY\ AR
AR T
| < /1 \
L\ ;}:\’;) /i l/ -
7”-)’ \1 \{‘lg\ ’y‘\ ,2
VAN ;
L‘\r N
/N
¥ v
4 Chu ey A
mo¥eeny
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Question 6: Wh-questions in Scottish Gaelic

(15 points)

The following data are from Scottish Gaelic. Scottish Gaelic is like Irish in that it is a
VSO language.

(7)

(8)

Thuirt  sinn gun dosgriobh i  an leabhar
say.PAST we that write.PAST she the book
‘We said that she wrote the book’

v S 0 .
De a thuirt  sibh a sgriobh 1
What WH-C say.PAST 25.POLITE WH-C write.PAST she
‘What did you say that she wrote?’

Your job is to draw a tree structure for (8). You are allowed to use triangles for the DPs.

You can assume that T does not have a EPP feature. You will need to ﬁgl'lre out: (i)
whether Scottish Gaelic has V — T and (ii) whether T moves to C in questions.

yeC V> T:  Voappepvt belwve spec.
WO TP (2 T doey nhot appeat befure (
e
N .

D P U] C

2 /\

0 /N

1 Caaaw) TP

/ 2N
{/ @ ) / vy
/ ‘ S~
'\ v /N T At v

. A .
4 v.\“\ lj‘rc‘.) 1 1} ~
bow 5 Sibh . Cp
VN
() X
1 ﬁ /\ ) d
\ T VY L,/"
\ VN
\ /\ o 0

v T

A s
\ Sﬂjy\\e\lh [’\Pﬂ] i /\+
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Question 7: Island Constraints 1 (18 points)
£ You will be presented with pairs of sentences. For each of the pairs, the ill-formed forms
in (b) are derived from the string in (a). Examine how (b) could be derived from (a)
and answer the questions below.

(a) (6 points) Consider the following pair:
N T e
(9 a He mentioned[the fact that he had run into Julia BQberLs]
b. *[ Which celebrity ]; did he mention the fact that he had run into t; ?

Is (b) excluded by one of the island constraints? A Yes O No

Is yes, state by which one(s) (the name(s) of the constraint(s)), and state clearly
how extraction violates that/those particular constraint(s).

(b) is excluded by the _(omplex NP (Ondraibg 1\ constraint because
WoedRuprs o wete Abhe Gemdnd  Dehidh iebrity ) fom 4pe (P [dhad b
had run ‘\\\\‘Z\ME‘ if\‘w-‘l‘pﬁ 'S dvmihated \0\# (Awe tomplevment of) the NP
ahe {ad )

(b) (6 points) Consider the following pair:

(10) a. Alec bought\Bana,na Yoshimoto’s book

b. *[ Whose ]; did Alec buy t; book?

Is (b) excluded by one of the island constraints? & Yes O No

Is yes, state by which one(s) (the name(s) of the constraint(s)), and state clearly
how extraction violates that/those particular constraint(s).

(b) is excluded by the _lett btanch (ORCH VAR constraint because
Mitmphs  n wedt by DY cubyed, [w hote ), fum \aigev DP, [whoye
oo ¥ ’\L,_

(¢) (6 points) Consider the following pair:

(11) ( That he has met Subcomandante Marcos]li(s extremely unlikely.
(11) *Who; is that he has met t; extremely unlikely?

Is (b) excluded by one of the island constraints? o Yes O No

Is yes, state by which one(s) (the name(s) of the constraint(s)), and state clearly
how extraction violates that/those particular constraint(s).
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(b) is excluded by the _Stwlenta\  Swhjed  Conebvant constraint because

1

g alkwpts o wove Ahe  tlemept [wha]  6um -\-ﬂ\'\Q (P [{hat Wt ha{ me4
who ] Ahat 10w b fabjed  pefdn  of ke whole (ankh(e.

Question 8: Island Constraints 2 (12 points)
You are now asked to produce pairs of sentences illustrating two different island con-
straints. Like in question 7, sentence (a) should show a grammatical declarative sentence,
whereas sentence (b) should be an ill-formed sentence derived from (a). Sentence (b)
should be excluded by the relevant island constraint.

(a) (6 points) First case: Coordinated Structure Constaint

a. A ate a poding and  dvank  Some  (offee.

b. what, did 1 eat o pashry and dvinke 4, 2\

(b) (6 points) Second case: Subject Condition

a. T ptddwig ot wy  {vendd 16 Vi W /
b. Which Giendg {  \C tWE pdwe o 4, voy wite g
Question 9: Island Constraints 3 (5 points)
Explain the contrast between (12a) and (12b). Can you account for it using the island
constraints?

(12)  a. | Which celebrities ]; did you see a picture of t;?
b. *{ Which celebrities ]; did a picture of t; appeared in the newspapers?

The difterenie 1 W (@Y, wWe ave ‘é‘ﬁ\m(’r\k\@ fiom & DY in ke  oblect  positiown,
whte (b)), we e udvathing fom  Ake  qabjed poifion. () violafe
the  swbied  (ondrtwn islakd (M\skaM. Onree W abtemple Yoo wmoyg the DY [which
celrvdies ) fom the DP [ prutwe ot whivh celebviteg) thd € dhe  (wbjed o
(he whele  Reknge.  (a)  Ackgnd violade any  iS\and  confeathig -
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